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£ 5HE—HKR (BT T=F&FEMUIERR)
EANEBEETHES
(B) S#13FE4H18 (#) $#443H31H
(B4 : M)
BENE LEERE(A) HIEERE(B) =R(A)-(B)

| || REERRE 118,007, 353 114,206, 891 3,800, 462
| g |BEEET SR 58, 965 56, 638 2,327
€™ [y—ezmanmasst (1) 118,066, 318 114, 263, 529 3,802, 789
NG 84,190, 960 81,879, 039 2,311, 921
& Exw 11, 060, 750 11, 147, 803 -87, 053
R 4,127,373 3, 689, 862 437, 511
t | P A2 3,773,839 3,623, 271 150, 568
| | RS SR S AR -1, 106, 164 -2, 003, 500 897,336
ol |o-tzEBEBET (2) 102, 046, 758 98, 336, 475 3,710,283
op |T-CAEBMERERE (3) = (1) - (2) 16, 019, 560 15,927, 054 92, 506
2 | iy [ZE RIS ER L RIS 66, 686 5 688 60, 998
& | g |EOMOY—EREBS RS 1, 299, 000 1,257,028 41,972
g | |P—CREBIMRESET (4) 1, 365, 686 1,262,716 102,970
ot & [zoboy-E2EBIMER 1, 269, 000 1,247,028 21,972
o ALY EXmBSN R (5) 1, 269, 000 1,247,028 21,972
= [—cxEEsMERERE (6) = (4) — (5) 96, 686 15, 688 80, 998
BEEEEE (7) = (3) + (6) 16, 116, 246 15,942, 742 173,504
IR | g e RS B S IR 1,000, 000 964, 000 36, 000
B | 2 [EBUNZSET (8) 1,000, 000 964, 000 36, 000
18| o |EEEESA - 0518 1 2 -1
| o | BB & S RIS T4 1, 000, 000 964, 000 36, 000
o | [#ERiEmst (9) 1,000, 001 964, 002 35,999
2 [BRIERESR (10) = (8) — (9) - -2 1
UEREBIERERE (11) = (7) + (10) 16, 116, 245 15, 942, 740 173,505
¢ [FHpRESIEREE (1 2) 3,215, 880 2,713, 140 442,740
= [LEBkEMEBIERAS (13) = (11) + (12) 19,332, 125 18, 715, 880 616, 245
5 [EASEEASE (14) 0 0 0
: |ZOMBOIETTSERES%E (15) 0 0 0
" [zoftomEsr£ETEE (16) 15, 500, 000 15, 500, 000 0
* REpREEENERASE (17) = (13) + (14) + (15) — (16) 3,832,125 3,215, 880 616, 245

11




